10 0000000 INHD0DO0ODOO0O00oo0oDoon

gbogboboboobobbobboobooboobobobobboboobobobobd
000000 (transformation method) 00000000000

10.1 OOoOooOooood

gbboobuoobbodboobbooboooboad

000 O flx) (10.1)
000 O zeVCR" (10.2)
V ={z|gi(x) <0, i=1,...,m; hj(x)=0, j=1,...,1} (10.3)

gi(x)<000D00000D000R(x)=00000000000000000000VOOODOOOOO
ugbbooooboboobuooboobbobboobuoobooboooboobboooboaobg
gboogd

10.2 O0O0O0Ooboooogd

0000000000 (exterior penalty function method) 00 000000000000 O0O0OO

m l
V() = D d(g(@)+ D d(h(@) (10.4)
=1 i=1
P(s) = {max(0, s)}*, >0 (10.5)
d(s) = |s*, a=0 (10.6)

O00e=20000000000000000000000000 V()00

U(x) = 0, (zr)eV (10.7)
U(x) > 0, (z)¢V (10.8)

000000000 00000VOODOO0D0O00000D00 (exterior penalty function) D 000 O
00000000000 Y(e)0O0OD0OO0O0ODO0reROOO0OOOO

F(xz, r)= f(x) +r¥(x)

O000000000000000 (augmented objective function) DO D0 000070 rg<r; <...<
r,<..0000000000DOO0ODO0O0OOO0OO0DOO0O0O000OO0bOO0ODbOO0O0 EkODDOOOOn

(EMDODOOOO F(e, 1), € R

0000000000000 0000O000O0O000O0O000oO00ooO0 {0 0ODOOO

bbbl k—ocodboboooobobobobOobUOobObUODbObUObLO
O000000xeVOIOOOUOODDOOODODOOOOODOOODOO0OODOO0OOxe¢VOOOOr,O00

goooboobooooobodrp0obooboviooboobooboovboooobooDbo
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0 10.1: 0g0b0o0boobbooboobooboon

0 10.1(0) 00
o000 0O fx)==x (10.9)
000 0O gx)=-2<0 (10.10)

gboboobooboobooboboobooboobbobbooboobooboooboobOon
gboboboboovoboboboboboboboooo

ogooogo 10-1d

r1, z20 2000000000000000000
L o

000 : O f(x) = f(z1, 22) =23 + 372 (10.11)

o000 : Ogi(xy, ©2)=—x1 —22+1<0 (10.12)

gobooboooboooooboo

10.3 UO0Oooboooogd

00000000000 00DoC {z}0000VOOOODODODODODOOOODODODOOOOO
O0voOoOoOoooooOvOoOooOOOOOoOoOoOoOoOOoOOoOooooOoOOO0 (interior penalty function
method) 000000000000 DOOO0OOOOOOOOOOODDOOOOOOOOOOOOOOOO
goo

xeintV 0000P(x) >0 (10.13)
x— 0V 0000P(x) — oo (10.14)

0000tV OOO0O VOOODOovOo VOOOOODOODODDOOOOOODODDOOODOOODOOOD

A
&
I

e(gi(x)), etV (10.15)
1

—s)7% a>0,s<0 (10.16)

S
—~
Vo)
S~—
Il
—_

O00ae=1000200000000000000000000000O0DO0O0O0O0O0O0O0O0O00O00O0
ooogad
000 Fl(x, ty) = f(x)+t:P(x), zecintV
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0 102: 0000000000 b0o0oboobooboon

v

O000O0{t&},k=1,2,...,000000000 0000000000 ODOOOODOOOOOOOOO
0000000 {x}00k—ococ0000000D0O0O0DOOOOOOODODOOOOOODODOO

0 102(0)000000000000000OCOOOO0OO0DOOOOOOOOOOOOOOCODOOO
goboobobooooobbobboobboobooboobboonooon

10.4 OO0

gbobobpooobooooooobooboobobobobboboboboboobooboboobg
00000000 ¢g(x) 000000000000 0000000000000 hj(x)=0,j5=1,...,1
000 py000dobo0o0ooooooooooooooooooooooooooviodzOOoOoo
00000000000000 de = (dxy, dl’g,...,d.%’n)TDDDDDDDDDDDDD de000O0OO0O
gviobobobobobobobobobobUo=zyOOOO

(A)  (Vhj(z)Tde = 0, j=1,...,1

0000000000000000000000000 d=x0000000 hj(x)=0000000n
gboboobooboobooboooboobboobobobooboon Vh(x)DDDDDDDfDD
goooo-00o0oogooon

0000 z0O0O0O f(x)DOODO0OODODOOODOOOODOOO

(B)  (Vf(z)de = 0
000000000000000000 (B)0OO (A)D0000D000000000VfO Vi, (j=
1,...,)000000000000000000000000002 00000

l
Vi+> AjVhy =0

J=1

ooooooo0oooa, g=1,...,/0000000000000000000¢0 %DDDDDZD
J
gbooooo
O000xzO0 A=(A,..., ) 00000000 OOOOOOO

[
Lz, A) = f(z)+ > Ahj(z)
j=1
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0 103: 00000000000000000O0O0ODOOOO0OO (A=05000

00 L(z, A)0OO0DO0O00DOO (Lagrangean function)d X;, 7 =1,...,1000000000 (La-
grangean multiplier) 00 00 0000000000000 0O0OO0OO0O0O0O0O0OOOOOOOOOO

oL Of <. Oh; .
oz, &Ei—ka::l i o, 0, N
oL

—— = hi(x)=0, j=1,...
a)\j h](x) 07 J I al

O0000VL(xz, N)=0000000000000O

gboboboooobbooobobobobobooboboboobobobobobobobo
0000000000000 000000000D0000000000000 (method of indeterminate
coeeficients) 0 000 000000000000 O0O0OO0 00000

ooo0oooooodoo myooooooooooooo fo0000dooo0ooooooooooon
0103(0)0000000000DO0O 10-100000000D00DOO0O0DOODOO0OODOOOOODOOOO
goboobooobon

1
L(xy, x2, \) = (93% + §$%) + Az + 22 — 1)

O0000VL(z1,20,A) =00000000000000000 (2%, «3, A*) = (0.25, 0.75, 0.5) 0000
000000000 A=0500000000103(0)0000000000000004%, 23000
000000000000 0000000000000000000
0D00000000000000000000000000000000000000000000
000000000000 0000000000000000000000000000

gboogoo
e JJ0DOUOODDOODODOOODOODDOODODOONODISBN4-8171-5306-7

e NI DOODDOODODOODLDOODDL-DODDOODLOO-OODDOOODO
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